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We talked about the following example: (For details, s

ee also the padlet
https://padlet.com/benjaminbrueckmaths/lecture10
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A graph of groups
Let The graph of groups (G,Y)
_ 4 _ 1\ ~
A= <a|a6 =1)= Z/4Z, The yellow edge is a spanning tree T.
B = <b|b2 =1) = Z/6Z, (The maps from {1} to A and B are (and must
C = (ce" =1) = Z/2Z, be) given by sending 1to 1_A and 1_B.)

ac:C — A;c— a?,

we : C — Bjc— be. ?_C; C ULC)
and use these to define a graph of groups (G,Y) as

depicted on the right.

™ (G,Y,T) = (a,b, tla* =1 =0° t 'a’t =b?)

Part of the tree associated to this example:

/ o -
L L27A LA Lo )

92)7(& :/A?-@ 3“//3

This shows all edges adjacent to A or B.
For expanding the picture, note that there are only two orbibts of vertices, the one of A and the one of B. This implies that around every

vertex, we have a situation isomorphic to the one around A or around B



